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”strong=”l|��/�� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0.2.0”
”strong=”c/3541|����/�� x-morph=”OSHM:HC/D” ”strong=”3254|�������
x-morph=”OSHM:HVhi3ms” x-cantillationLevel=”0.2” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”d/4194|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1” ”strong=”6504|��������� x-morph=”OSHM:HVhi3ms”
x-cantillationLevel=”0.0” ”strong=”996|�/������� x-morph=”OSHM:HR/Sp1cs”
”strong=”c/996|��/������/�� x-morph=”OSHM:HC/R/Sp2fs” x-cantillationLevel=”0”�
18 ”strong=”c/7200|�������/�� x-morph=”OSHM:HC/Vqw3fs” x-cantillationLevel=”1.1”
strong=”3588|����� a” x-morph=”OSHM:HC”��������������|strong=”553”
x-morph=”OSHM:HVtrfsa” ”strong=”1931|����� x-morph=”OSHM:HPp3fs”
x-cantillationLevel=”1.0” ”strong=”l/3212|������/�� x-morph=”OSHM:HR/Vqc”
”strong=”854|��/������ x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”1”
”strong=”c/2308|����������/�� x-morph=”OSHM:HC/Vqw3fs” x-cantillationLevel=”0.0”
”strong=”l/1696|�������/�� x-morph=”OSHM:HR/Vpc” ”strong=”413|��/������
x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”0”� 19 ”strong=”c/3212|�����������/��
x-morph=”OSHM:HC/Vqw3fp” ”strong=”8147|����/������� x-morph=”OSHM:HAcfdc/Sp3mp”
x-cantillationLevel=”1.1” ”strong=”5704|��� x-morph=”OSHM:HR”���/�������|strong=”935”
x-morph=”OSHM:HVqc/Sp3fp” x-cantillationLevel=”1.0” ”+strong=”1035|������
x-morph=”OSHM:HNp” ”strong=”1035|������ x-morph=”OSHM:HNp” x-
cantillationLevel=”1” ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0.2.1” ”strong=”k/935|����/�����/��� x-morph=”OSHM:HR/Vqc/Sp3fp”
x-cantillationLevel=”0.2.0” ”+strong=”1035|������ x-morph=”OSHM:HNp”
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”strong=”1035|������ x-morph=”OSHM:HNp” x-cantillationLevel=”0.2”
”strong=”c/1949|�������/�� x-morph=”OSHM:HC/VNw3fs” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”�����/���|strong=”d/5892 b” x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”0.1.0” strong=”5921|����/����� a” x-morph=”OSHM:HR/Sp3fp”
x-cantillationLevel=”0.1” ”strong=”c/559|������������/�� x-morph=”OSHM:HC/Vqw3fp”
x-cantillationLevel=”0.0” ”strong=”i/2063|�����/�� x-morph=”OSHM:HTi/Pdxfs”
”strong=”5281|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
20 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3fs” ”strong=”413|����/�����
x-morph=”OSHM:HR/Sp3fp” x-cantillationLevel=”1.1” ”strong=”408|��� x-
morph=”OSHM:HTn”�������������|strong=”7121” x-morph=”OSHM:HVqj2fp”
”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.0” ”strong=”5281|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”7121|��������
x-morph=”OSHM:HVqv2fp” ”strong=”l|��/�� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”0.1.0” ”strong=”4755|������ x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” strong=”3588|���� a” x-morph=”OSHM:HC”�������|strong=”4843”
x-morph=”OSHM:HVhp3ms” ”strong=”7706|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0.0” ”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”0.0” ”strong=”3966|������ x-morph=”OSHM:HD” x-
cantillationLevel=”0”� 21 ”strong=”589|������ x-morph=”OSHM:HPp1cs”
x-cantillationLevel=”1.1.0” ”strong=”4392|�������� x-morph=”OSHM:HAafsa”
”strong=”1980|����������� x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1.1”
”strong=”c/7387|�������/�� x-morph=”OSHM:HC/D” x-cantillationLevel=”1.0”
”strong=”7725|���/��������� x-morph=”OSHM:HVhp3ms/Sp1cs” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”l/4100|����/���
x-morph=”OSHM:HR/Ti” ”strong=”7121|����������� x-morph=”OSHM:HVqi2fp”
”strong=”l|��/�� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0.2.0”
”strong=”5281|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.2”
”strong=”c/3068|������/��� x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.1.0”
strong=”6030|������ b” x-morph=”OSHM:HVqp3ms” ”strong=”b|�/���
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0.1” ”strong=”c/7706|��������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.0” strong=”7489|�������
a” x-morph=”OSHM:HVhp3ms” 2 We read one or more accents in L dif-
ferently from BHQ. 3 ”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs” x-
cantillationLevel=”0”� 22 ”strong=”c/7725|��������/�� x-morph=”OSHM:HC/Vqw3fs”
”strong=”5281|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1”
”strong=”c/7327|�����/�� x-morph=”OSHM:HC/Np” ”strong=”d/4125|�������������/��
x-morph=”OSHM:HTd/Ngfsa” ”strong=”3618|���/������� x-morph=”OSHM:HNcfsc/Sp3fs”
x-cantillationLevel=”1.1.0” strong=”5973|��/������ a” x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”1.1” ”strong=”d/7725|��������/�� x-morph=”OSHM:HTd/Vqp3fs”
x-cantillationLevel=”1.0” strong=”m/7704|��������/�� b” x-morph=”OSHM:HR/Ncmpc”
”strong=”4124|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/1992|�������/�� x-morph=”OSHM:HC/Pp3mp” x-cantillationLevel=”0.1.1”

2C
3c We read one or more accents in L differently than BHS. Often this notation indicates a typo-

graphical error in BHS.
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”strong=”935|������� x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”0.1.0”
”+strong=”1035|������ x-morph=”OSHM:HNp” ”strong=”1035|������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1” ”strong=”b/8462|���������/���
x-morph=”OSHM:HR/Ncfsc” x-cantillationLevel=”0.0” strong=”7105|�������
a” x-morph=”OSHM:HNcmsc” ”strong=”8184|���������� x-morph=”OSHM:HNcfpa”
x-cantillationLevel=”0”�2 ”strong=”c/l/5281|��������/��/��� x-morph=”OSHM:HC/R/Np”

x-cantillationLevel=”1.1.1.0” ”strong=”3045|���� x-morph=”OSHM:HVPsmsa”
x-wType=”x-ketiv” 4 ”strong=”l/376|��/�������/�� x-morph=”OSHM:HR/Ncmsc/Sp3fs”

x-cantillationLevel=”1.1.1” ”strong=”376|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1.0” ”strong=”1368|��������� x-morph=”OSHM:HAamsc”
”strong=”2428|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1”
”strong=”m/4940|�������������/�� x-morph=”OSHM:HR/Ncfsc” x-cantillationLevel=”1.0”
”strong=”458|������������ x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/8034|��/�����/�� x-morph=”OSHM:HC/Ncmsc/Sp3ms” x-cantillationLevel=”0.0”
”strong=”1162|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
2 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3fs” ”strong=”7327|�����
x-morph=”OSHM:HNp” ”strong=”d/4125|�������������/�� x-morph=”OSHM:HTd/Ngfsa”
x-cantillationLevel=”1.2.1.0” ”strong=”413|���� x-morph=”OSHM:HR”���������|strong=”5281”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.1” ”strong=”3212|��������
x-morph=”OSHM:HVqh1cs”������|strong=”4994” x-morph=”OSHM:HTj”
strong=”d/7704|��������/�� b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2.0”
”strong=”c/3950|�����������/�� x-morph=”OSHM:HC/Vph1cs” 5Marks
a place where we agree with BHQ against BHS in reading L. 6 7 strong=”b/7641|�����������/��
b” x-morph=”OSHM:HRd/Ncfpa” x-cantillationLevel=”1.2” 8 9 10 strong=”310|������
a” x-morph=”OSHM:HR” x-cantillationLevel=”1.1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”4672|������� x-morph=”OSHM:HVqi1cs”�����|strong=”2580”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0” strong=”b/5869|�/�������/���
a” x-morph=”OSHM:HR/Ncbdc/Sp3ms” x-cantillationLevel=”1” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3fs” ”strong=”l|��/��� x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”0.0” ”strong=”3212|������ x-morph=”OSHM:HVqv2fs”
”strong=”1323|�/������ x-morph=”OSHM:HNcfsc/Sp1cs” x-cantillationLevel=”0”�
3 ”strong=”c/3212|��������/�� x-morph=”OSHM:HC/Vqw3fs” ”strong=”c/935|��������/��
x-morph=”OSHM:HC/Vqw3fs” x-cantillationLevel=”1.1.0” ”strong=”c/3950|����������/��
x-morph=”OSHM:HC/Vpw3fs” strong=”b/7704|��������/��� b” x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1.1” strong=”310|�������� a” x-morph=”OSHM:HR”
x-cantillationLevel=”1.0” strong=”d/7114|����������/�� b” x-morph=”OSHM:HTd/Vqrmpa”
x-cantillationLevel=”1” strong=”c/7136|�������/�� a” x-morph=”OSHM:HC/Vqw3ms”
”strong=”4745|��/������� x-morph=”OSHM:HNcmsc/Sp3fs” x-cantillationLevel=”0.2”
4+ ”strong=”4129|����������� x-morph=”OSHM:HNcmsa”
5Q
6n Marks an anomalous form.
7p We read punctuation in L differently from BHS.
8Q Marks a place where we agree with BHQ against BHS in reading L.
9n Marks an anomalous form.
10p We read punctuation in L differently from BHS.
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strong=”2513|�������� a” x-morph=”OSHM:HNcfsc” strong=”d/7704|��������/��
b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1.0” ”strong=”l/1162|������/��
x-morph=”OSHM:HR/Np” x-cantillationLevel=”0.1” strong=”834|�������
a” x-morph=”OSHM:HTr” x-cantillationLevel=”0.0” ”strong=”m/4940|�������������/��
x-morph=”OSHM:HR/Ncfsc” ”strong=”458|������������ x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 4 ”strong=”c/2009|������/�� x-morph=”OSHM:HC/Tm”�������|strong=”1162”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1” ”strong=”935|����� x-
morph=”OSHM:HVqrmsa” x-cantillationLevel=”1.1.0” ”+strong=”m/1035|������/��
x-morph=”OSHM:HR/Np” ”strong=”1035|������ x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
strong=”l/7114|�����������/�� b” x-morph=”OSHM:HRd/Vqrmpa” x-
cantillationLevel=”1.0” ”strong=”3068|������� x-morph=”OSHM:HNp”
strong=”5973|����/����� a” x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”1”
”strong=”c/559|����������/�� x-morph=”OSHM:HC/Vqw3mp” ”strong=”l|��/��
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.0” ”strong=”1288|���/��������
x-morph=”OSHM:HVpi3ms/Sp2ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 5 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”1162|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”l/5288|��/������/�� x-morph=”OSHM:HR/Ncmsc/Sp3ms” x-
cantillationLevel=”1.1” ”strong=”d/5324|��������/�� x-morph=”OSHM:HTd/VNrmsa”
x-cantillationLevel=”1.0” strong=”5921|��� a” x-morph=”OSHM:HR”������������/���|strong=”d/7114
b” x-morph=”OSHM:HTd/Vqrmpa” x-cantillationLevel=”1” ”strong=”l/4310|����/��
x-morph=”OSHM:HR/Ti” x-cantillationLevel=”0.0” ”strong=”d/5291|���������/��
x-morph=”OSHM:HTd/Ncfsa” ”strong=”d/2063|������/�� x-morph=”OSHM:HTd/Pdxfs”
x-cantillationLevel=”0”� 6 strong=”c/6030|�������/�� b” x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.0.1” ”strong=”d/5288|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.0.0” ”strong=”d/5324|��������/�� x-morph=”OSHM:HTd/VNrmsa”
strong=”5921|��� a” x-morph=”OSHM:HR”�����������/���|strong=”d/7114
b” x-morph=”OSHM:HTd/Vqrmpa” x-cantillationLevel=”1.0” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1” ”strong=”5291|��������
x-morph=”OSHM:HNcfsa” ”strong=”4125|������������� x-morph=”OSHM:HNgfsa”
x-cantillationLevel=”0.1.0” ”strong=”1931|����� x-morph=”OSHM:HPp3fs”
x-cantillationLevel=”0.1” ”strong=”d/7725|��������/�� x-morph=”OSHM:HTd/Vqrfsa”
strong=”5973|���� a” x-morph=”OSHM:HR”���������|strong=”5281”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” strong=”m/7704|��������/��
b” x-morph=”OSHM:HR/Ncmsc” ”strong=”4124|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 7 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3fs”
x-cantillationLevel=”1.1.1” ”strong=”3950|��������� x-morph=”OSHM:HVph1cs”������|strong=”4994”
x-morph=”OSHM:HTj” x-cantillationLevel=”1.1.0” ”strong=”c/622|�����������/��
x-morph=”OSHM:HC/Vqq1cs” strong=”b/6016|���������/��� a” x-morph=”OSHM:HRd/Ncmpa”
x-cantillationLevel=”1.1” strong=”310|�������� a” x-morph=”OSHM:HR”
x-cantillationLevel=”1.0” strong=”d/7114|�����������/�� b” x-morph=”OSHM:HTd/Vqrmpa”
x-cantillationLevel=”1” ”strong=”c/935|��������/�� x-morph=”OSHM:HC/Vqw3fs”
”strong=”c/5975|����������/��� x-morph=”OSHM:HC/Vqw3fs” x-cantillationLevel=”0.1.1”
strong=”m/227|����/�� b” x-morph=”OSHM:HR/D” ”strong=”d/1242|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1.0” ”strong=”c/5704|���/��
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x-morph=”OSHM:HC/R”��������|strong=”6258” x-morph=”OSHM:HD”
x-cantillationLevel=”0.1” ”strong=”2088|���� x-morph=”OSHM:HPdxms”
x-cantillationLevel=”0.0.0” ”strong=”3427|��/��������� x-morph=”OSHM:HVqc/Sp3fs”
strong=”d/1004|�������/�� b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0”
”strong=”4592|������ x-morph=”OSHM:HAamsa” x-cantillationLevel=”0”�
8 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”1162|�������
x-morph=”OSHM:HNp” ”strong=”413|��� x-morph=”OSHM:HR”������|strong=”7327”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.2.0” ”strong=”i/3808|�����/��
x-morph=”OSHM:HTi/Tn” ”strong=”8085|����������� x-morph=”OSHM:HVqp2fs”
”strong=”1323|�/������� x-morph=”OSHM:HNcfsc/Sp1cs” x-cantillationLevel=”1.1.2”
”strong=”408|��� x-morph=”OSHM:HTn”����������|strong=”3212” x-
morph=”OSHM:HVqj2fs” x-cantillationLevel=”1.1.1” ”strong=”l/3950|������/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.1.0” strong=”b/7704|�������/���
b” x-morph=”OSHM:HR/Ncmsa” ”strong=”312|������ x-morph=”OSHM:HAamsa”
x-cantillationLevel=”1.1” ”strong=”c/1571|����/�� x-morph=”OSHM:HC/Ta”
x-cantillationLevel=”1.0.0” ”strong=”3808|���� x-morph=”OSHM:HTn” strong=”5674|�����������
a” x-morph=”OSHM:HVqi2fs” x-cantillationLevel=”1.0” ”strong=”m/2088|�����/��
x-morph=”OSHM:HR/Pdxms” x-cantillationLevel=”1” ”strong=”c/3541|����/��
x-morph=”OSHM:HC/D” ”strong=”1692|�/����������� x-morph=”OSHM:HVqi2fs/Sn”
x-cantillationLevel=”0.0” strong=”5973|��� a” x-morph=”OSHM:HR”�/����������|strong=”5291”
x-morph=”OSHM:HNcfpc/Sp1cs” x-cantillationLevel=”0”� 9 strong=”5869|��/��������
a” x-morph=”OSHM:HNcbdc/Sp2fs” x-cantillationLevel=”1.1.0.0” strong=”b/7704|��������/���
b” x-morph=”OSHM:HR/Ncmsa” strong=”834|������ a” x-morph=”OSHM:HTr”��/����������|strong=”7114
b” x-morph=”OSHM:HVqi3mp/Sn” x-cantillationLevel=”1.1.0” ”strong=”c/1980|����������/��
x-morph=”OSHM:HC/Vqq2fs” 11 Marks a place where we agree with BHQ
against BHS in reading L. 12 13 strong=”310|����/������� a” x-morph=”OSHM:HR/Sp3fp”
x-cantillationLevel=”1.1” ”strong=”i/3808|�����/�� x-morph=”OSHM:HTi/Tn”
”strong=”6680|���������� x-morph=”OSHM:HVpp1cs” x-cantillationLevel=”1.0.0”
”strong=”853|��� x-morph=”OSHM:HTo”����������/���|strong=”d/5288”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.0” ”strong=”l/1115|���������/��
x-morph=”OSHM:HR/C” ”strong=”5060|��/������� x-morph=”OSHM:HVqc/Sp2fs”
x-cantillationLevel=”1” ”strong=”c/6770|������/�� x-morph=”OSHM:HC/Vqq2fs”
x-cantillationLevel=”0.2.1” ”strong=”c/1980|����������/�� x-morph=”OSHM:HC/Vqq2fs”
x-cantillationLevel=”0.2.0” ”strong=”413|��� x-morph=”OSHM:HR”��������/���|strong=”d/3627”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.2” ”strong=”c/8354|��������/��
x-morph=”OSHM:HC/Vqq2fs” x-cantillationLevel=”0.1” strong=”m/834|�������/��
c” x-morph=”OSHM:HR/Tr” ”strong=”7579|�/����������� x-morph=”OSHM:HVqi3mp/Sn”
x-cantillationLevel=”0.0” ”strong=”d/5288|����������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”0”� 10 ”strong=”c/5307|��������/�� x-morph=”OSHM:HC/Vqw3fs”
x-cantillationLevel=”1.1.0” strong=”5921|��� a” x-morph=”OSHM:HR”��/��������|strong=”6440”
x-morph=”OSHM:HNcbpc/Sp3fs” x-cantillationLevel=”1.1” ”strong=”c/7812|�������������/��
x-morph=”OSHM:HC/Vvw3fs” x-cantillationLevel=”1.0” ”strong=”776|�/�������

11Q
12n Marks an anomalous form.
13v We read one or more vowels in L differently from BHS.
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x-morph=”OSHM:HNcbsa/Sd” x-cantillationLevel=”1” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3fs” ”strong=”413|�/������ x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0.1.1” ”strong=”4069|��������� x-morph=”OSHM:HTi”
”strong=”4672|��������� x-morph=”OSHM:HVqp1cs” ”strong=”2580|����
x-morph=”OSHM:HNcmsa” strong=”b/5869|���/�������/��� a” x-morph=”OSHM:HR/Ncbdc/Sp2ms”
x-cantillationLevel=”0.1.0” strong=”l/5234|���/���������/�� a” x-morph=”OSHM:HR/Vhc/Sp1cs”
x-cantillationLevel=”0.1” ”strong=”c/595|���������/�� x-morph=”OSHM:HC/Pp1cs”
x-cantillationLevel=”0.0” 14 Marks a place where we agree with BHQ against
BHS in reading L. 15 16 ”strong=”5237|����������� x-morph=”OSHM:HAafsa”
x-cantillationLevel=”0”� 11 strong=”c/6030|�������/�� b” x-morph=”OSHM:HC/Vqw3ms”
”strong=”1162|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.0”
”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”l|��/���
x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”1.2” ”strong=”5046|�������
x-morph=”OSHM:HVHa” ”strong=”5046|������� x-morph=”OSHM:HVHp3ms”
x-cantillationLevel=”1.1.1.0” ”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1.1.1” ”strong=”3605|����� x-morph=”OSHM:HNcmsa”
strong=”834|������ a” x-morph=”OSHM:HTr”���������|strong=”6213
a” x-morph=”OSHM:HVqp2fs” x-cantillationLevel=”1.1.0” ”strong=”854|���
x-morph=”OSHM:HR”��/���������|strong=”2545” x-morph=”OSHM:HNcfsc/Sp2fs”
x-cantillationLevel=”1.1” strong=”310|�������� a” x-morph=”OSHM:HR”
x-cantillationLevel=”1.0” ”strong=”4194|����� x-morph=”OSHM:HNcmsc”
”strong=”376|��/������� x-morph=”OSHM:HNcmsc/Sp2fs” x-cantillationLevel=”1”
strong=”c/5800|������������/�� a” x-morph=”OSHM:HC/Vqw2fs” x-
cantillationLevel=”0.3.1.0” ”strong=”1|��/������� x-morph=”OSHM:HNcmsc/Sp2fs”
17 Marks a place where we agree with BHQ against BHS in reading L. 18
19 ”strong=”c/517|��/������/�� x-morph=”OSHM:HC/Ncfsc/Sp2fs” x-
cantillationLevel=”0.3.1” ”strong=”c/776|�������/�� x-morph=”OSHM:HC/Ncbsc”
x-cantillationLevel=”0.3.0” ”strong=”4138|��/������������ x-morph=”OSHM:HNcfsc/Sp2fs”
x-cantillationLevel=”0.3” ”strong=”c/3212|����������/�� x-morph=”OSHM:HC/Vqw2fs”
x-cantillationLevel=”0.2” ”strong=”413|��� x-morph=”OSHM:HR”�����|strong=”5971
a” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”3808|��� x-morph=”OSHM:HTn”�����������|strong=”3045”
x-morph=”OSHM:HVqp2fs” x-cantillationLevel=”0.0” ”strong=”8543|��������
x-morph=”OSHM:HD” ”strong=”8032|����������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 12 strong=”7999|���������� a” x-morph=”OSHM:HVpi3ms”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”6467|��/�������� x-morph=”OSHM:HNcmsc/Sp2fs” x-cantillationLevel=”1”
”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqj3fs” ”strong=”4909|��/��������������
x-morph=”OSHM:HNcfsc/Sp2fs” x-cantillationLevel=”0.1.1.0” ”strong=”8003|���������
x-morph=”OSHM:HAafsa” x-cantillationLevel=”0.1.1” strong=”m/5973|����/��
14Q
15n Marks an anomalous form.
16p We read punctuation in L differently from BHS.
17Q
18n Marks an anomalous form.
19p We read punctuation in L differently from BHS.
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b” x-morph=”OSHM:HR/R” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1.0” ”strong=”430|�������� x-morph=”OSHM:HNcmpc”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
strong=”834|������ a” x-morph=”OSHM:HTr”�������|strong=”935” x-
morph=”OSHM:HVqp2fs” x-cantillationLevel=”0.0” ”strong=”l/2620|�������/��
x-morph=”OSHM:HR/Vqc” ”strong=”8478|������� x-morph=”OSHM:HR”�/����������|strong=”3671”
x-morph=”OSHM:HNcfpc/Sp3ms” x-cantillationLevel=”0”� 13 ”strong=”c/559|�������/���
x-morph=”OSHM:HC/Vqw3fs” x-cantillationLevel=”1.1.0.0” ”strong=”4672|�������
x-morph=”OSHM:HVqi1cs”�����|strong=”2580” x-morph=”OSHM:HNcmsa”
strong=”b/5869|��/�������/��� a” x-morph=”OSHM:HR/Ncbdc/Sp2ms”
”strong=”113|��/������ x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1.1.0”
strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”5162|���/�����������
x-morph=”OSHM:HVpp2ms/Sp1cs” x-cantillationLevel=”1.1” strong=”c/3588|����/��
a” x-morph=”OSHM:HC/C” ”strong=”1696|����������� x-morph=”OSHM:HVpp2ms”
x-cantillationLevel=”1.0” strong=”5921|��� a” x-morph=”OSHM:HR”�����|strong=”3820
a” x-morph=”OSHM:HNcmsc” ”strong=”8198|��/���������� x-morph=”OSHM:HNcfsc/Sp2ms”
x-cantillationLevel=”1” ”strong=”c/595|��������/�� x-morph=”OSHM:HC/Pp1cs”
x-cantillationLevel=”0.1.0” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”1961|���������
x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”0.1” ”strong=”k/259|������/���
x-morph=”OSHM:HR/Acfsc” x-cantillationLevel=”0.0” ”strong=”8198|��/�����������
x-morph=”OSHM:HNcfpc/Sp2ms” x-cantillationLevel=”0”� 14 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”l|�/��� x-morph=”OSHM:HR/Sp3fs”
”strong=”1162|������ x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1.0”
”strong=”l/6256|����/�� x-morph=”OSHM:HR/Ncbsc” ”strong=”d/400|������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.1” ”strong=”5066|���������
x-morph=”OSHM:HVqv2fs” ”strong=”1988|������ x-morph=”OSHM:HD”
x-cantillationLevel=”1.1.0” ”strong=”c/398|����������/�� x-morph=”OSHM:HC/Vqq2fs”
strong=”4480|��� a” x-morph=”OSHM:HR”�������/���|strong=”d/3899”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1.1” ”strong=”c/2881|����������/��
x-morph=”OSHM:HC/Vqq2fs” strong=”6595|��/������� a” x-morph=”OSHM:HNcfsc/Sp2fs”
x-cantillationLevel=”1.0” ”strong=”b/2558|������/��� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1” ”strong=”c/3427|���������/�� x-morph=”OSHM:HC/Vqw3fs”
x-cantillationLevel=”0.2.0” ”strong=”m/6654|�����/�� x-morph=”OSHM:HR/Ncmsc”
strong=”d/7114|������������/�� b” x-morph=”OSHM:HTd/Vqrmpa”
x-cantillationLevel=”0.2” ”strong=”c/6642|���������/�� x-morph=”OSHM:HC/Vqw3ms”��/����|strong=”l”
x-morph=”OSHM:HR/Sp3fs” ”strong=”7039|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.1” ”strong=”c/398|��������/�� x-morph=”OSHM:HC/Vqw3fs”
”strong=”c/7646|�����������/�� x-morph=”OSHM:HC/Vqw3fs” x-cantillationLevel=”0.0”
”strong=”c/3498|�������/�� x-morph=”OSHM:HC/Vhw3fs” x-cantillationLevel=”0”�
15 strong=”c/6965|�������/�� b” x-morph=”OSHM:HC/Vqw3fs” x-cantillationLevel=”1.0”
”strong=”l/3950|�������/�� x-morph=”OSHM:HR/Vpc” x-cantillationLevel=”1”
”strong=”c/6680|������/�� x-morph=”OSHM:HC/Vpw3ms” ”strong=”1162|�������
x-morph=”OSHM:HNp” ”strong=”853|��� x-morph=”OSHM:HTo”�/���������|strong=”5288”
x-morph=”OSHM:HNcmpc/Sp3ms” x-cantillationLevel=”0.0.1.0” ”strong=”l/559|�����/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0.0.1” ”strong=”1571|�����
x-morph=”OSHM:HTa” ”strong=”996|������ x-morph=”OSHM:HR” strong=”d/6016|���������/���
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a” x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.0.0” ”strong=”3950|����������
x-morph=”OSHM:HVpi3fs” x-cantillationLevel=”0.0” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”3637|��/����������� x-morph=”OSHM:HVhi2mp/Sp3fs”
x-cantillationLevel=”0”� 16 ”strong=”c/1571|����/�� x-morph=”OSHM:HC/Ta”
x-cantillationLevel=”1.0.0” strong=”7997|���� a” x-morph=”OSHM:HVqa”������������|strong=”7997
a” x-morph=”OSHM:HVqi2mp” ”strong=”l|��/��� x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”1.0” strong=”4480|��� a” x-morph=”OSHM:HR”����������/���|strong=”d/6653”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1” strong=”c/5800|�����������/��
a” x-morph=”OSHM:HC/Vqq2mp” ”strong=”c/3950|���������/�� x-morph=”OSHM:HC/Vpq3fs”
x-cantillationLevel=”0.0” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
”strong=”1605|��������� x-morph=”OSHM:HVqi2mp”��/����|strong=”b”
x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”0”� 17 ”strong=”c/3950|����������/��
x-morph=”OSHM:HC/Vpw3fs” strong=”b/7704|��������/��� b” x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1.0” ”strong=”5704|��� x-morph=”OSHM:HR”������/���|strong=”d/6153”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1” ”strong=”c/2251|����������/��
x-morph=”OSHM:HC/Vqw3fs” x-cantillationLevel=”0.1.0” ”strong=”853|����
x-morph=”OSHM:HTo” strong=”834|������ a” x-morph=”OSHM:HTr”����������|strong=”3950”
x-morph=”OSHM:HVpp3fs” x-cantillationLevel=”0.1” ”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0.0” ”strong=”k/374|�������/���
x-morph=”OSHM:HR/Ncfsa” ”strong=”8184|���������� x-morph=”OSHM:HNcfpa”
x-cantillationLevel=”0”� 18 ”strong=”c/5375|���������/�� x-morph=”OSHM:HC/Vqw3fs”
x-cantillationLevel=”1.1.0” ”strong=”c/935|��������/�� x-morph=”OSHM:HC/Vqw3fs”
strong=”d/5892|�����/�� b” x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.1”
”strong=”c/7200|�������/�� x-morph=”OSHM:HC/Vqw3fs” ”strong=”2545|��/��������
x-morph=”OSHM:HNcfsc/Sp3fs” x-cantillationLevel=”1.0” ”strong=”853|����
x-morph=”OSHM:HTo” strong=”834|������ a” x-morph=”OSHM:HTr”����������|strong=”3950”
x-morph=”OSHM:HVpp3fs” x-cantillationLevel=”1” ”strong=”c/3318|��������/��
x-morph=”OSHM:HC/Vhw3fs” x-cantillationLevel=”0.1.0” ”strong=”c/5414|�������/��
x-morph=”OSHM:HC/Vqw3fs”��/����|strong=”l” x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”0.1” ”strong=”853|���� x-morph=”OSHM:HTo” strong=”834|������
a” x-morph=”OSHM:HTr”����������|strong=”3498” x-morph=”OSHM:HVhp3fs”
x-cantillationLevel=”0.0” ”strong=”m/7648|��/���������/�� x-morph=”OSHM:HR/Ncmsc/Sp3fs”
x-cantillationLevel=”0”� 19 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3fs”
”strong=”l|��/��� x-morph=”OSHM:HR/Sp3fs” ”strong=”2545|��/��������
x-morph=”OSHM:HNcfsc/Sp3fs” x-cantillationLevel=”1.1.0.0” ”strong=”375|�������
x-morph=”OSHM:HTi” ”strong=”3950|����������� x-morph=”OSHM:HVpp2fs”
”strong=”d/3117|������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.0”
”strong=”c/575|������/�� x-morph=”OSHM:HC/D” strong=”6213|��������
a” x-morph=”OSHM:HVqp2fs” x-cantillationLevel=”1.1” ”strong=”1961|������
x-morph=”OSHM:HVqj3ms” strong=”5234|��/��������� a” x-morph=”OSHM:HVhrmsc/Sp2fs”
x-cantillationLevel=”1.0” ”strong=”1288|��������� x-morph=”OSHM:HVqsmsa”
x-cantillationLevel=”1” ”strong=”c/5046|��������/�� x-morph=”OSHM:HC/Vhw3fs”
”strong=”l/2545|��/��������/�� x-morph=”OSHM:HR/Ncfsc/Sp3fs” x-
cantillationLevel=”0.1.1” ”strong=”853|���� x-morph=”OSHM:HTo” strong=”834|������
a” x-morph=”OSHM:HTr”����������|strong=”6213 a” x-morph=”OSHM:HVqp3fs”
x-cantillationLevel=”0.1.0” strong=”5973|��/����� a” x-morph=”OSHM:HR/Sp3ms”
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x-cantillationLevel=”0.1” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3fs”
x-cantillationLevel=”0.0.2” ”strong=”8034|����� x-morph=”OSHM:HNcmsc”
”strong=”d/376|������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0.1”
strong=”834|������� a” x-morph=”OSHM:HTr” strong=”6213|����������
a” x-morph=”OSHM:HVqp1cs” strong=”5973|��/����� a” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0.0.0” ”strong=”d/3117|������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.0” ”strong=”1162|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 20 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3fs”
”strong=”5281|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.1.0”
”strong=”l/3618|��/��������/�� x-morph=”OSHM:HR/Ncfsc/Sp3fs” x-
cantillationLevel=”1.2.1” ”strong=”1288|��������� x-morph=”OSHM:HVqsmsa”
”strong=”1931|����� x-morph=”OSHM:HPp3ms” x-cantillationLevel=”1.2.0”
”strong=”l/3068|������/�� x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.2”
strong=”834|������� a” x-morph=”OSHM:HTr” x-cantillationLevel=”1.1.0”
”strong=”3808|��� x-morph=”OSHM:HTn”�������|strong=”5800 a” x-
morph=”OSHM:HVqp3ms” strong=”2617|��/������� a” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”1.1” ”strong=”854|��� x-morph=”OSHM:HR”��������/���|strong=”d/2416
a” x-morph=”OSHM:HTd/Aampa” x-cantillationLevel=”1.0” ”strong=”c/854|���/��
x-morph=”OSHM:HC/R”��������/���|strong=”d/4191” x-morph=”OSHM:HTd/Vqrmpa”
x-cantillationLevel=”1” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3fs”
”strong=”l|��/��� x-morph=”OSHM:HR/Sp3fs” ”strong=”5281|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.1” ”strong=”7138|�������
x-morph=”OSHM:HAamsa” ”strong=”l|����/��� x-morph=”OSHM:HR/Sp1cp”
x-cantillationLevel=”0.1.0” ”strong=”d/376|������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1” strong=”m/1350|���/��������/��� a” x-morph=”OSHM:HR/Vqrmsc/Sp1cp”
x-cantillationLevel=”0.0” ”strong=”1931|����� x-morph=”OSHM:HPp3ms”
x-cantillationLevel=”0”� 21 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3fs”
x-cantillationLevel=”1.0” ”strong=”7327|����� x-morph=”OSHM:HNp” ”strong=”d/4125|�������������/��
x-morph=”OSHM:HTd/Ngfsa” x-cantillationLevel=”1” ”strong=”1571|�����
x-morph=”OSHM:HTa” x-cantillationLevel=”0.2.1.0” � strong=”3588|����
a” x-morph=”OSHM:HC”�������|strong=”559” x-morph=”OSHM:HVqp3ms”
”strong=”413|�/����� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0.2.1”
strong=”5973|��� a” x-morph=”OSHM:HR”����������/���|strong=”d/5288”
x-morph=”OSHM:HTd/Ncmpa” strong=”834|������ a” x-morph=”OSHM:HTr”��/���|strong=”l”
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0.2.0” ”strong=”1692|�/������������
x-morph=”OSHM:HVqi2fs/Sn” x-cantillationLevel=”0.2” ”strong=”5704|����
x-morph=”OSHM:HR” strong=”518|��� a” x-morph=”OSHM:HC”���������|strong=”3615”
x-morph=”OSHM:HVpp3cp” x-cantillationLevel=”0.1” ”strong=”853|����
x-morph=”OSHM:HTo” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”��������/���|strong=”d/7105
a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0” strong=”834|������
a” x-morph=”OSHM:HTr”�/����|strong=”l” x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”0”� 22 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3fs”
”strong=”5281|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”413|��� x-morph=”OSHM:HR”������|strong=”7327” x-morph=”OSHM:HNp”
”strong=”3618|��/��������� x-morph=”OSHM:HNcfsc/Sp3fs” x-cantillationLevel=”1”
strong=”2896|����� a” x-morph=”OSHM:HAamsa” ”strong=”1323|�/�������
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x-morph=”OSHM:HNcfsc/Sp1cs” x-cantillationLevel=”0.1.1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”3318|��������� x-morph=”OSHM:HVqi2fs”
x-cantillationLevel=”0.1.0” strong=”5973|��� a” x-morph=”OSHM:HR”�/�������������|strong=”5291”
x-morph=”OSHM:HNcfpc/Sp3ms” x-cantillationLevel=”0.1” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”6293|���������� x-morph=”OSHM:HVqi3mp”��/����|strong=”b”
x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”0.0” strong=”b/7704|�������/���
b” x-morph=”OSHM:HR/Ncmsa” ”strong=”312|������ x-morph=”OSHM:HAamsa”
x-cantillationLevel=”0”� 23 ”strong=”c/1692|����������/�� x-morph=”OSHM:HC/Vqw3fs”
x-cantillationLevel=”1.1.0.0” ”strong=”b/5291|���������/��� x-morph=”OSHM:HR/Ncfpc”
”strong=”1162|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”l/3950|�������/�� x-morph=”OSHM:HR/Vpc” x-cantillationLevel=”1.1”
”strong=”5704|��� x-morph=”OSHM:HR”���������|strong=”3615” x-
morph=”OSHM:HVqc” strong=”7105|������� a” x-morph=”OSHM:HNcmsc”�����������/���|strong=”d/8184”
x-morph=”OSHM:HTd/Ncfpa” x-cantillationLevel=”1.0” strong=”c/7105|�������/��
a” x-morph=”OSHM:HC/Ncmsc” ”strong=”d/2406|��������/��� x-morph=”OSHM:HTd/Ncfpa”
x-cantillationLevel=”1” ”strong=”c/3427|��������/�� x-morph=”OSHM:HC/Vqw3fs”
x-cantillationLevel=”0.0” ”strong=”854|��� x-morph=”OSHM:HR”��/���������|strong=”2545”
x-morph=”OSHM:HNcfsc/Sp3fs” x-cantillationLevel=”0”�

3 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3fs” ”strong=”l|��/���
x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”1.0” ”strong=”5281|��������
x-morph=”OSHM:HNp” ”strong=”2545|��/�������� x-morph=”OSHM:HNcfsc/Sp3fs”

x-cantillationLevel=”1” ”strong=”1323|�/������� x-morph=”OSHM:HNcfsc/Sp1cs”
x-cantillationLevel=”0.0.0.0” ”strong=”i/3808|����/�� x-morph=”OSHM:HTi/Tn”
”strong=”1245|��������� x-morph=”OSHM:HVpi1cs”��/����|strong=”l”
x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”0.0.0” ”strong=”4494|��������
x-morph=”OSHM:HNcbsa” x-cantillationLevel=”0.0” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”3190|������� x-morph=”OSHM:HVqi3ms”��/����|strong=”l”
x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”0”� 2 ”strong=”c/6258|�������/��
x-morph=”OSHM:HC/D” x-cantillationLevel=”1.1.1” ”strong=”i/3808|����/��
x-morph=”OSHM:HTi/Tn” ”strong=”1162|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0” ”strong=”4130|���/����������� x-morph=”OSHM:HNcfsc/Sp1cp”
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x-morph=”OSHM:HVqi3ms” ”strong=”1697|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”8252|��������� x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”0.1.0” ”strong=”d/376|������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1” strong=”3588|����� b” x-morph=”OSHM:HC”����|strong=”518
b” x-morph=”OSHM:HC”���������|strong=”3615” x-morph=”OSHM:HVpp3ms”
”strong=”d/1697|�������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0”
”strong=”d/3117|������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”�

4 ”strong=”c/1162|������/�� x-morph=”OSHM:HC/Np” ”strong=”5927|������
x-morph=”OSHM:HVqp3ms” ”strong=”d/8179|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.2.0” ”strong=”c/3427|��������/�� x-morph=”OSHM:HC/Vqw3ms”

”strong=”8033|����� x-morph=”OSHM:HD” x-cantillationLevel=”1.2” ”strong=”c/2009|�������/��
x-morph=”OSHM:HC/Tm” strong=”d/1350|�������/�� a” x-morph=”OSHM:HTd/Vqrmsa”
strong=”5674|������ a” x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”1.1.0”
strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”1696|�������
x-morph=”OSHM:HVpp3ms”��������|strong=”1162” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.0.0” ”strong=”5493|�/������ x-morph=”OSHM:HVqv2ms/Sh”
”strong=”3427|�/����� x-morph=”OSHM:HVqv2ms/Sh”������|strong=”6311”
x-morph=”OSHM:HD” x-cantillationLevel=”1.0” ”strong=”6423|���������
x-morph=”OSHM:HPf” ”strong=”492|���������� x-morph=”OSHM:HAabsa”
x-cantillationLevel=”1” ”strong=”c/5493|�������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0.0” ”strong=”c/3427|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0”� 2 ”strong=”c/3947|��������/�� x-morph=”OSHM:HC/Vqw3ms”
33+ ”strong=”413|�/����� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0.1”
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x-cantillationLevel=”1.0.0.0” ”strong=”6235|��������� x-morph=”OSHM:HAcmsa”
”strong=”376|���������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.0.0”
”strong=”m/2205|���������/�� x-morph=”OSHM:HR/Aampc” strong=”d/5892|�����/��
b” x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.0” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”3427|������ x-morph=”OSHM:HVqv2mp”�����|strong=”6311”
x-morph=”OSHM:HD” x-cantillationLevel=”1” ”strong=”c/3427|����������/��
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”0”� 3 ”strong=”c/559|���������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.2.0” strong=”l/1350|�������/��
a” x-morph=”OSHM:HRd/Vqrmsa” x-cantillationLevel=”1.2” strong=”2513|��������
a” x-morph=”OSHM:HNcfsc” x-cantillationLevel=”1.1.0” strong=”d/7704|��������/��
b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”l/251|���/������/�� x-morph=”OSHM:HR/Ncmsc/Sp1cp”
x-cantillationLevel=”1.0” ”strong=”l/458|������������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1” ”strong=”4376|�������� x-morph=”OSHM:HVqp3fs”
”strong=”5281|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”d/7725|��������/�� x-morph=”OSHM:HTd/Vqp3fs” x-cantillationLevel=”0.0”
strong=”m/7704|��������/�� b” x-morph=”OSHM:HR/Ncmsc” ”strong=”4124|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 4 ”strong=”c/589|������/��
x-morph=”OSHM:HC/Pp1cs” ”strong=”559|����������� x-morph=”OSHM:HVqp1cs”
x-cantillationLevel=”1.3.1.0” ”strong=”1540|�������� x-morph=”OSHM:HVqi1cs”
”strong=”241|���/������ x-morph=”OSHM:HNcfsc/Sp2ms” ”strong=”l/559|�����/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.3.1” ”strong=”7069|������
x-morph=”OSHM:HVqv2ms” x-cantillationLevel=”1.3.0.0” ”strong=”5048|������
x-morph=”OSHM:HR” ”strong=”d/3427|�����������/��� x-morph=”OSHM:HTd/Vqrmpa”
x-cantillationLevel=”1.3.0” ”strong=”c/5048|������/�� x-morph=”OSHM:HC/R”
”strong=”2205|�������� x-morph=”OSHM:HAampc” strong=”5971|��/�����
a” x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1.3” strong=”518|���
a” x-morph=”OSHM:HC”����������|strong=”1350 a” x-morph=”OSHM:HVqi2ms”
x-cantillationLevel=”1.2.0” strong=”1350|������� a” x-morph=”OSHM:HVqv2ms”
x-cantillationLevel=”1.2” strong=”c/518|���/�� a” x-morph=”OSHM:HC/C”�����|strong=”3808”
x-morph=”OSHM:HTn” strong=”1350|�������� a” x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”1.1.2.0” ”strong=”5046|�/��������� x-morph=”OSHM:HVhv2ms/Sh”
”strong=”l|�/���� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.1.2”
”strong=”c/3045|���/� x-morph=”OSHM:HC/Vqi1cs” x-wType=”x-ketiv”
34 strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”369|����� x-
morph=”OSHM:HTn” ”strong=”2108|���/�������� x-morph=”OSHM:HR/Sp2ms”
x-cantillationLevel=”1.1.0” strong=”l/1350|�������/�� a” x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”1.1” ”strong=”c/595|��������/�� x-morph=”OSHM:HC/Pp1cs”
x-cantillationLevel=”1.0” strong=”310|��/�������� a” x-morph=”OSHM:HR/Sp2ms”
x-cantillationLevel=”1” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0.0” ”strong=”595|�������� x-morph=”OSHM:HPp1cs”
strong=”1350|�������� a” x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”0”�
5 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”1162|�������

34+ ”strong=”c/3045|���������/�����/� x-morph=”OSHM:HC/Vqh1cs” x-
cantillationLevel=”1.1.1”
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x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” ”strong=”b/3117|����/���
x-morph=”OSHM:HR/Ncmsc”���/��������|strong=”7069” x-morph=”OSHM:HVqc/Sp2ms”
strong=”d/7704|��������/�� b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0”
”strong=”m/3027|�����/�� x-morph=”OSHM:HR/Ncbsc” ”strong=”5281|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”c/m/853|���/��/���
x-morph=”OSHM:HC/R/To” x-cantillationLevel=”0.1.0.0” ”strong=”7327|�����
x-morph=”OSHM:HNp” ”strong=”d/4125|�������������/�� x-morph=”OSHM:HTd/Ngfsa”
”strong=”802|������� x-morph=”OSHM:HNcfsc”�����/���|strong=”d/4191”
x-morph=”OSHM:HTd/Vqrmsa” x-cantillationLevel=”0.1.0” ”strong=”7069|�����
x-morph=”OSHM:HVqp1cs” x-wType=”x-ketiv” 35 strong=”l/6965|�������/��
b” x-morph=”OSHM:HR/Vhc” ”strong=”8034|���� x-morph=”OSHM:HNcmsc”�����/���|strong=”d/4191”
x-morph=”OSHM:HTd/Vqrmsa” x-cantillationLevel=”0.0” strong=”5921|���
a” x-morph=”OSHM:HR”��/���������|strong=”5159” x-morph=”OSHM:HNcfsc/Sp3ms”
x-cantillationLevel=”0”� 6 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
strong=”d/1350|�������/�� a” x-morph=”OSHM:HTd/Vqrmsa” x-cantillationLevel=”1.1.1”
”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”3201|������� x-
morph=”OSHM:HVqi1cs” x-cantillationLevel=”1.1.0” strong=”l/1350|����/�
a” x-morph=”OSHM:HR/Vqc” x-wType=”x-ketiv” 36 ”strong=”l|�/���� x-
morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.1” ”strong=”6435|����
x-morph=”OSHM:HC”�����������|strong=”7843” x-morph=”OSHM:HVhi1cs”
x-cantillationLevel=”1.0” ”strong=”853|��� x-morph=”OSHM:HTo”�/����������|strong=”5159”
x-morph=”OSHM:HNcfsc/Sp1cs” x-cantillationLevel=”1” strong=”1350|������
a” x-morph=”OSHM:HVqv2ms”���/���|strong=”l” x-morph=”OSHM:HR/Sp2ms”
strong=”859|������� a” x-morph=”OSHM:HPp2ms” x-cantillationLevel=”0.1.0”
”strong=”853|��� x-morph=”OSHM:HTo”�/������������|strong=”1353”
x-morph=”OSHM:HNcfsc/Sp1cs” x-cantillationLevel=”0.1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”3808|��� x-morph=”OSHM:HTn”��������|strong=”3201”
x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”0.0” strong=”l/1350|������/��
a” x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0”� 7 ”strong=”c/2063|�����/��
x-morph=”OSHM:HC/Pdxfs” ”strong=”l/6440|�������/�� x-morph=”OSHM:HR/Ncbpa”
”strong=”b/3478|�����������/��� x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.1.0.0”
strong=”5921|��� a” x-morph=”OSHM:HR”�����������/���|strong=”d/1353”
x-morph=”OSHM:HTd/Ncfsa” strong=”c/5921|���/�� a” x-morph=”OSHM:HC/R”����������/���|strong=”d/8545”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.1.0” strong=”l/6965|�������/��
b” x-morph=”OSHM:HR/Vpc” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”��������|strong=”1697”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1” ”strong=”8025|�������
x-morph=”OSHM:HVqp3ms” ”strong=”376|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.0.0” ”strong=”5275|��/������ x-morph=”OSHM:HNcfsc/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”c/5414|������/�� x-morph=”OSHM:HC/Vqq3ms”
”strong=”l/7453|���/�����/�� x-morph=”OSHM:HR/Ncmsc/Sp3ms” x-
cantillationLevel=”1” ”strong=”c/2063|�����/�� x-morph=”OSHM:HC/Pdxfs”
”strong=”d/8584|����������/�� x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.0”

35+ ”strong=”7069|�������������� x-morph=”OSHM:HVqp2ms” x-
cantillationLevel=”0.1”
36+ strong=”l/1350|�����/������/� a” x-morph=”OSHM:HR/Vqc”
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”strong=”b/3478|�����������/��� x-morph=”OSHM:HR/Np” x-cantillationLevel=”0”�
8 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” strong=”d/1350|�������/��
a” x-morph=”OSHM:HTd/Vqrmsa” x-cantillationLevel=”1.0.0” ”strong=”l/1162|������/��
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.0” ”strong=”7069|�����
x-morph=”OSHM:HVqv2ms”��/����|strong=”l” x-morph=”OSHM:HR/Sp2fs”
x-cantillationLevel=”1” ”strong=”c/8025|����������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0.0” ”strong=”5275|��/������ x-morph=”OSHM:HNcfsc/Sp3ms”
x-cantillationLevel=”0”� 9 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”1162|������� x-morph=”OSHM:HNp” ”strong=”l/2205|����������/��
x-morph=”OSHM:HRd/Aampa” x-cantillationLevel=”1.2.1.0” ”strong=”c/3605|���/��
x-morph=”OSHM:HC/Ncmsc”����/���|strong=”d/5971 a” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.2.1” ”strong=”5707|������� x-morph=”OSHM:HNcmpa”
strong=”859|������� d” x-morph=”OSHM:HPp2mp” x-cantillationLevel=”1.2.0”
”strong=”d/3117|������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2”
strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”7069|����������
x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”�����|strong=”3605” x-morph=”OSHM:HNcmsc”��������|strong=”834
a” x-morph=”OSHM:HTr” ”strong=”l/458|������������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.1” ”strong=”c/853|����/�� x-morph=”OSHM:HC/To”
x-cantillationLevel=”1.0.0” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”��������|strong=”834
a” x-morph=”OSHM:HTr” ”strong=”l/3630|���������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.0” ”strong=”c/4248|���������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”1” ”strong=”m/3027|�����/�� x-morph=”OSHM:HR/Ncbsc”
x-cantillationLevel=”0.0” ”strong=”5281|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 10 ”strong=”c/1571|����/�� x-morph=”OSHM:HC/Ta”
”strong=”853|��� x-morph=”OSHM:HTo”������|strong=”7327” x-morph=”OSHM:HNp”
”strong=”d/4125|������������/�� x-morph=”OSHM:HTd/Ngfsa” ”strong=”802|�������
x-morph=”OSHM:HNcfsc” ”strong=”4248|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.1.0” ”strong=”7069|��������� x-morph=”OSHM:HVqp1cs”
”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs” ”strong=”l/802|��������/��
x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”1.1.1” strong=”l/6965|�������/��
b” x-morph=”OSHM:HR/Vhc” ”strong=”8034|���� x-morph=”OSHM:HNcmsc”�����/���|strong=”d/4191”
x-morph=”OSHM:HTd/Vqrmsa” x-cantillationLevel=”1.1.0” strong=”5921|���
a” x-morph=”OSHM:HR”��/����������|strong=”5159” x-morph=”OSHM:HNcfsc/Sp3ms”
x-cantillationLevel=”1.1” ”strong=”c/3808|���/�� x-morph=”OSHM:HC/Tn”����������|strong=”3772”
x-morph=”OSHM:HVNi3ms” ”strong=”8034|���� x-morph=”OSHM:HNcmsc”�����/���|strong=”d/4191”
x-morph=”OSHM:HTd/Vqrmsa” x-cantillationLevel=”1.0.0” strong=”m/5973|����/��
b” x-morph=”OSHM:HR/R” ”strong=”251|�/������ x-morph=”OSHM:HNcmpc/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”c/m/8179|��������/��/�� x-morph=”OSHM:HC/R/Ncmsc”
”strong=”4725|��/������� x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1”
”strong=”5707|������� x-morph=”OSHM:HNcmpa” strong=”859|�������
d” x-morph=”OSHM:HPp2mp” x-cantillationLevel=”0.0” ”strong=”d/3117|������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”� 11 ”strong=”c/559|�����������/��
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1.0.0.0” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”����/���|strong=”d/5971 a” x-morph=”OSHM:HTd/Ncmsa”
strong=”834|������ a” x-morph=”OSHM:HTr”��������/����|strong=”b/8179”
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x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.0.0” ”strong=”c/d/2205|����������/��/��
x-morph=”OSHM:HC/Td/Aampa” x-cantillationLevel=”1.0” ”strong=”5707|�������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1” ”strong=”5414|�������
x-morph=”OSHM:HVqi3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
”strong=”853|���� x-morph=”OSHM:HTo”��������/���|strong=”d/802”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.2.2.0” ”strong=”d/935|�������/��
x-morph=”OSHM:HTd/Vqrfsa” ”strong=”413|��� x-morph=”OSHM:HR”��/��������|strong=”1004
b” x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”0.2.2” ”strong=”k/7354|������/���
x-morph=”OSHM:HR/Np” � ”strong=”c/k/3812|������/��/�� x-morph=”OSHM:HC/R/Np”
x-cantillationLevel=”0.2.1” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”1129|������� x-morph=”OSHM:HVqp3cp” ”strong=”8147|����/�������
x-morph=”OSHM:HAcfdc/Sp3mp” x-cantillationLevel=”0.2.0” ”strong=”853|���
x-morph=”OSHM:HTo”�������|strong=”1004 b” x-morph=”OSHM:HNcmsc”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.2”
strong=”c/6213|������/�� a” x-morph=”OSHM:HC/Vqv2ms”�������|strong=”2428”
x-morph=”OSHM:HNcmsa” ”strong=”b/672|����������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0.1” ”strong=”c/7121|�����/�� x-morph=”OSHM:HC/Vqv2ms”������|strong=”8034”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0” ”+strong=”b/1035|�����/���
x-morph=”OSHM:HR/Np” ”strong=”1035|������ x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 12 ”strong=”c/1961|�����/�� x-morph=”OSHM:HC/Vqj3ms”
strong=”1004|���/������ b” x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”1.1.0”
strong=”k/1004|�����/��� b” x-morph=”OSHM:HR/Ncmsc” ”strong=”6557|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” strong=”834|������ a”
x-morph=”OSHM:HTr”���������|strong=”3205” x-morph=”OSHM:HVqp3fs”
”strong=”8559|������ x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”l/3063|��������/��� x-morph=”OSHM:HR/Np” x-cantillationLevel=”1”
strong=”4480|��� a” x-morph=”OSHM:HR”�������/���|strong=”d/2233”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1.1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”5414|������� x-morph=”OSHM:HVqi3ms”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
”strong=”l|���/�� x-morph=”OSHM:HR/Sp2ms” x-cantillationLevel=”0.1”
strong=”4480|��� a” x-morph=”OSHM:HR”���������/����|strong=”d/5291”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.0” ”strong=”d/2063|������/��
x-morph=”OSHM:HTd/Pdxfs” x-cantillationLevel=”0”� 13 ”strong=”c/3947|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”1162|������� x-morph=”OSHM:HNp”
”strong=”853|��� x-morph=”OSHM:HTo”������|strong=”7327” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0” ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3fs”��/���|strong=”l”
x-morph=”OSHM:HR/Sp3ms” ”strong=”l/802|��������/�� x-morph=”OSHM:HR/Ncfsa”
x-cantillationLevel=”1.1” ”strong=”c/935|�������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.0” ”strong=”413|��/������ x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”1” ”strong=”c/5414|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”3068|������� x-morph=”OSHM:HNp” ”strong=”l|��/��� x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”0.0.0” ”strong=”2032|��������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” ”strong=”c/3205|�������/�� x-morph=”OSHM:HC/Vqw3fs”
strong=”1121|����� a” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
14 ”strong=”c/559|������������/�� x-morph=”OSHM:HC/Vqw3fp” ”strong=”d/802|���������/��
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x-morph=”OSHM:HTd/Ncfpa” x-cantillationLevel=”1.2.0” ”strong=”413|����
x-morph=”OSHM:HR”���������|strong=”5281” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2” ”strong=”1288|��������� x-morph=”OSHM:HVqsmsa”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
strong=”834|������� a” x-morph=”OSHM:HTr” x-cantillationLevel=”1.0.0.0”
”strong=”3808|���� x-morph=”OSHM:HTn” strong=”7673|�����������
a” x-morph=”OSHM:HVhp3ms” ”strong=”l|��/��� x-morph=”OSHM:HR/Sp2fs”
x-cantillationLevel=”1.0.0” strong=”1350|������� a” x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”1.0” ”strong=”d/3117|������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1” ”strong=”c/7121|���������/�� x-morph=”OSHM:HC/VNi3ms”
”strong=”8034|��/����� x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0.0”
”strong=”b/3478|�����������/��� x-morph=”OSHM:HR/Np” x-cantillationLevel=”0”�
15 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqq3ms” ”strong=”l|���/��
x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”1.1.0” ”strong=”l/7725|��������/��
x-morph=”OSHM:HR/Vhrmsa” ”strong=”5315|������� x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”1.1” ”strong=”c/l/3557|���������/��/�� x-morph=”OSHM:HC/R/Vlc”
x-cantillationLevel=”1.0” ”strong=”853|��� x-morph=”OSHM:HTo”��/����������|strong=”7872”
x-morph=”OSHM:HNcfsc/Sp2fs” x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”3618|��/�������� x-morph=”OSHM:HNcfsc/Sp2fs”
strong=”834|������� a” x-morph=”OSHM:HTr”���/����������|strong=”157”
x-morph=”OSHM:HVqp3fs/Sp2fs” x-cantillationLevel=”0.2.0” ”strong=”3205|��/���������
x-morph=”OSHM:HVqp3fs/Sp3ms” x-cantillationLevel=”0.2” strong=”834|������
a” x-morph=”OSHM:HTr”������|strong=”1931” x-morph=”OSHM:HPp3fs”
x-cantillationLevel=”0.1.0” strong=”2896|������� a” x-morph=”OSHM:HAafsa”
”strong=”l|��/��� x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”0.1”
”strong=”m/7651|����������/�� x-morph=”OSHM:HR/Acmsa” x-cantillationLevel=”0.0”
strong=”1121|�������� a” x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0”�
16 ”strong=”c/3947|��������/�� x-morph=”OSHM:HC/Vqw3fs” ”strong=”5281|��������
x-morph=”OSHM:HNp” ”strong=”853|��� x-morph=”OSHM:HTo”��������/���|strong=”d/3206”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1.0” ”strong=”c/7896|���/���������/��
x-morph=”OSHM:HC/Vqw3fs/Sp3ms” ”strong=”b/2436|��/������/�� x-
morph=”OSHM:HR/Ncmsc/Sp3fs” x-cantillationLevel=”0.1” ”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqw3fs”��/���|strong=”l” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”l/539|��������/�� x-morph=”OSHM:HR/Vqrfsa”
x-cantillationLevel=”0”� 17 ”strong=”c/7121|������������/�� x-morph=”OSHM:HC/Vqw3fp”
”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms” ”strong=”d/7934|�����������/��
x-morph=”OSHM:HTd/Aafpa” ”strong=”8034|����� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1.0” ”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”1.1” ”strong=”3205|������ x-morph=”OSHM:HVPp3ms”������|strong=”1121
a” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0” ”strong=”l/5281|��������/��
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1” ”strong=”c/7121|�������������/��
x-morph=”OSHM:HC/Vqw3fp” ”strong=”8034|���/���� x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0.1.0” ”strong=”5744|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”1931|����� x-morph=”OSHM:HPp3ms”
”strong=”1|����� x-morph=”OSHM:HNcmsc”��������|strong=”3448”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”1|������ x-morph=”OSHM:HNcmsc”
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”strong=”1732|������ x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
� 18 ”strong=”c/428|��������/�� x-morph=”OSHM:HC/Pdxcp” x-cantillationLevel=”0.1.0”
”strong=”8435|����������� x-morph=”OSHM:HNcfpc” ”strong=”6557|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1” ”strong=”6557|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”3205|��������
x-morph=”OSHM:HVhp3ms” ”strong=”853|��� x-morph=”OSHM:HTo”����������|strong=”2696”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 19 ”strong=”c/2696|���������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.1.0” ”strong=”3205|��������
x-morph=”OSHM:HVhp3ms” ”strong=”853|��� x-morph=”OSHM:HTo”�����|strong=”7410”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1” ”strong=”c/7410|����/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.0” ”strong=”3205|��������
x-morph=”OSHM:HVhp3ms” ”strong=”853|��� x-morph=”OSHM:HTo”��������������|strong=”5992”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 20 ”strong=”c/5992|�������������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.1.0” ”strong=”3205|��������
x-morph=”OSHM:HVhp3ms” ”strong=”853|��� x-morph=”OSHM:HTo”�����������|strong=”5177”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1” ”strong=”c/5177|����������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.0” ”strong=”3205|��������
x-morph=”OSHM:HVhp3ms” ”strong=”853|��� x-morph=”OSHM:HTo”����������|strong=”8009”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 21 ”strong=”c/8012|����������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.1.0” ”strong=”3205|��������
x-morph=”OSHM:HVhp3ms” ”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”1162”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1” ”strong=”c/1162|������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.0” ”strong=”3205|��������
x-morph=”OSHM:HVhp3ms” ”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”5744”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 22 ”strong=”c/5744|������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.1.0” ”strong=”3205|��������
x-morph=”OSHM:HVhp3ms” ”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”3448”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1” ”strong=”c/3448|�������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.0” ”strong=”3205|��������
x-morph=”OSHM:HVhp3ms” ”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”1732”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�


